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QUESTION 1

The http://pkg.oracle.com/solaris/release publisher is available on this server. A new repository has been created in the
/export/sliReaseRepo file system and you want to add the gzip package to this repository. Which is a valid method for
adding the gzip package to the /export/sliReleaseRepo repository?

A. pkgrecv s http://pkg.oracle.com/solaris/release d /export/sliReleaseRepo gzip

B. pkgrecv s /export/sliReleaseRepo d http://pkg.oracle.com/solaris/release gzip

C. pkgrecv s pkgrecv d /export/sliReleaseRepo gzip

D. rsync aP http://pkg.oracle.com/solaris/release d /export/sliReleaseRepo gzip

Correct Answer: A

QUESTION 2

Which two statements correct regarding Link Aggregations?

A. The MAC address of the first configured link is used for all links.

B. A link with an existing IP interface cannot be added to an aggregation.

C. The switch must support the Link Aggregation Control Protocol (LACP).

D. Links of differing bit rates can be aggregated, but performance gains may not be realized.
E. The f option of dladm allows aggregating devices that do not support link state notification.

Correct Answer: BE

QUESTION 3

A contractor has been hired by you company to do some application-specific tuning. You are the administrator of the
server that the contractor will be working on. You decide to enable Oracle Solaris Auditing. How will auditing help
prevent misuse of the server?

A. prevents attempts to bypass the protection mechanisms

B. stops unauthorized activity

C. acts as a deterrent

D. prevents misuse

Correct Answer: A

QUESTION 4
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You are configuring a system on your network that was installed using LiveCD. You configured applied a static IP
address to the system. You now need to configure a default router. Assume that name services are file based and the
router\\'s IP address is 172.31.10.1. Which two methods should you use to configure a default route on this Oracle
Solaris 11 system?

A. svccfg s network/physical setprop config/defroute=172.31.10.1;svcadm refresh network/physical; svcadm restart
network/physical

B. svccfg s routing/route setprop config/defroute=172.31.10.1;svcadm refresh routing/route; svcadm restart
routing/route

C. Add the IP address to the /etc/defaultrouter file and run route add default 172.31.10.1.
D. netadm modify p ncp DefaultFixed set-prop p defroute=172.31.10.1
E. ipadm set-prop p defaultrouter=172.31.10.1

Correct Answer: B

QUESTION 5

The output of the ppriv command lists four privilege sets. Which option best describes the Inherited privilege set?
A. It is the privilege set that nonroot users may inherit.

B. It is the privilege set an effective-user process may inherit.

C. Itis the privilege set only privilege-aware child processes may inherit.

D. It is the privilege set the current process inherited.

Correct Answer: D
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